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— , Muitiple Choices (75%)

1. Which of the following statements is NOT an objective of financial

reporting?
a. Provide information that is useful in investment and credit
decisions.

b. Provide information about enterprise resources, claims to those
resources, and changes to them.

c. Provide information on the ligquidation value of an enterprise.

d. Provide information that is useful in assessing cash flow
prospects. )

2. The Financial Accounting Standards Board
a. has issued a series of pronouncements entitled Statements on
Auditing Standards.
b. was the forerunner of the current Accounting Principles Board.
c. is the arm of the Securities and Exchange Commission responsible
for setting financial accounting standards.
d. is appointed by the Financial Accounting Foundation.

3. A soundly developed conceptual framework of concepts and objectives

should

a. increase financial statement users' understanding of and
confidence in financial reporting.

b. enhance comparability among companies' financial statements.

¢. allow new and emerging practical problems to be more quickly
soluble.

d. all of these,

4. In November and December 2004, Mann Co., a newly organized magazine
publisher received $75,000 for 1,000 three-year subscriptions at $25
per year, starting with the January 2005 issue. Mann included the
entire $75,000 in its 2004 income tax return. What amount should
Mann report in its 2004 income statement for subscriptions revenue?

a. 50.

b. $4,167.
T. $25,000.
d. $75,000.

5. Catt Company, with an applicable income tax rate of 30%, reported
net income of $560,000. Included 'in income for the period was an
extraordinary loss from flood damages of $80,000 before deducting
the related tax effect. The company's income before income taxes

and extraordinary items was

a. $640,000.
b. $800,000.
c. $880,000.
d. $616,000.
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7.

6. In preparing a statement of cash flows, which of the following

transactions would be considered an investing activity?
a. Sale of equipment at book value

b. Sale of merchandise on credit

c. Declaration of a cash dividend

d. Issuance of bonds payable at a discount

In preparing its August 31, 2004 bank reconciliation, Cloud Corp.
has available the following information:

Balance per bank statement, 8/31/04 $25,650
Deposit in transit, B/31/04 5,900
Return of customer's check for insufficient funds, )
B/30/04 600
Outstanding checks, 8/31/04 2,750
Bank service charges for August 100

At August 31, 2004, Cloud's correct cash balance is

a. $28,800.
b. $28,200.
c. $28,100.
d. $26,500.

Dolan Corporation adopted the dollar-value LIFO method of inventory
valuation on December 31, 2002. Its inventory at that date was
$420,000 and the relevant price index was 100. Information
regarding inventory for subseguent years is as follows:

Inventory at Current Price
Date Current Prices Index
December 31, 2003 ' $535,000 107
December 31, 2004 580,000 125
December 31, 2005 676,000 130

What is the cost of the ending inventory at December 31, 2005 under
dollar-value LIFO?

a. $539,880.
b. $§547,200,
c. $520,000.
d. $550,000.

Queen Co. records purchases at net amounts. On May 5, Queen
purchased merchandise on account, $32,000, terms 2/10, n/30. Queen
returned $2,000 of the May 5 purchase, and received credit on
account. At May 31 the balance had not been paid.

By how much should the account payable be adjusted on May 317

a. s0.
b. $680.
C. 5640.
d.

5600.
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10. On December 31, 2004, Lilly Co. adopted the dollar-value LIFO
retail inventory method. Inventory data for 2005 are as follows:

LIFO Cost Retail
Inventory, 12/31/04 $155, 000 $220,000
Inventory, 12/31/05 ? 275,000
Increase in price level for 2005 10%
Cost to retail ratio for 2005 70%

Under the LIFO retail method, Lilly's inventory at December 31,
2005, should be

a. $178,100.

b, $192,500.

¢. 5193,500.

d. §197,350.

11. The inventory account of Lance Company at December 31, 2004,
included the following items:

Inventory
Amount
Merchandise out on consignment at sales price
{including markup of 40% on selling price) $40,000
Goods purchased, in transit {(shipped f.o.b.
shipping point) 24,000
Goods held on consignment by Lance 20,000
Goods out on approval (sales price $15,200,
cost $12,800) 15,200

Based on the above information, the inventory account at
December 31, 2004, should be reduced by

a. $38,400.
b, $§55,200.
c. $62,400.
d. %$46,400.

12, Holt Football Co. had a player contract with Vance that is recorded
in its books at $1,200,000 on July 1, 2004. Day Football Co. had a
player contract with Trent that is recorded in its books at
$1,500,000 on July 1, 2004. On this date, Holt traded Vance to Day
for Trent and paid a cash difference of $150,000. The fair value of
the Trent contract was $1,800,000 on the exchange date. After the
exchange, the Trent contract should be recorded in Holt's books at
a. 51,350,000.

b. $1,500,000.
c. $1,650,000.
d. $1,800,000.
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13. A machine with a ten-year estimated useful life and an estimated 1o0%
salvage value was acquired on January 1, 2002. The depreciation
expense for 2004 using the double-declining-balance method would be
original cost multiplied by

90% x 20% x 20%.

B0% x B0% x 20%.

90% x 80% x 20%.

20% % 20%.

o0 ow

14. On January 1, 2000, Watts Company purchased a copyright for
$600,000, having an estimated useful life of 16 years. In January,
2004, Watts paid $90,000 for legal fees in a successful defense of
the copyright. Copyright amortization expense for the year ended
December 31, 2004, should be

a. $0.

b, $37,500.
c. 543,125,
d. $45,000.

15. Farr Products Corp. provides an incentive compensation plan under
which its president receives a bonus equal to 20% of the corpora-
tion's income in excess of $400,000 before income tax but after the
bonus. If income before tax and bonus is $1,600,000 and the
effective tax rate is 30%, the amount of the bonus would be
a. $168,000.

. $200,000.
c. $240,000.
d. $320,000.

16. On January 1, 2000, Orear Corp. issued 3,000 of its 10%, $1,000
bonds for $3,120,000. These bonds were to mature on January 1, 2010
but were calliable at 101 any time after December 31, 2003. Interest
was payable semiannually on July 1 and January 1. On July 1, 2003,
Orear called all of the bonds and retired them. Bond premium was
amortized on a straight-line basis. Before income taxes, Orear's
gain or loss in 2005 on this early extinguishment of debt was
a. $90,000 gain.

b. %$36,000 gain.
c. $30,000 loss.
d. $24,000 gain.

17. At December 31, 2004 and 2005, Sloan Corp. had outstanding 9,000
shares of $100 par value B% cumulative preferred stock and 3¢,000
shares of $10 par value common stock. At Decembher 31, 2004,
dividends in arrears on the preferred stock were $36,000. Cash
dividends declared in 2005 totaled $135,000. What amounts were

payable on each class of stock?

Preferred Stock Common Stock
a. $72,000 $63,000
b. £99,000 536,000
c. $108,000 $27,000
4a. $135, 000 50
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20.

Dolan, Inc., had 700,000 shares of common stock issued and
outstanding at December 31, 2003. On July 1, 2004, an additional
50,000 shares of common stock were issued for cash. Dolan alsc had
unexercised stock options to purchase 40,000 shares of common stock
at $15 per share outstanding at the beginning and end of 2004. The
average market price of Dolan's common gtock was $20 during 2004.
What ig the number of shares that should be used in computing
diluted earnings per share for the year ended December 31, 20047

a. 725,000.

b. 735.000.
c. 760,000.
d. 765,000.

Kimm Inc. acquired 30% of Carne Corp.'s voting stock on January 1,
2004 for $360,000. During 2004, Carne earned $150,000 and paid
dividends of $90,000. Kimm's 30% interest in Carne gives Kimm the
ability to exercise significant influence over Carne's operating and
financial policies. During 2005, Carne earned 5180,000 and paid
dividends of $60,000 on April 1 and $60,000 on October 1. On July 1,
2005, Kimm sold half of its stock in Carne for $5237,000 cash.

What should be the gain on sale of this investment in Kimm's 2005
income statement?

a. $57,000.
b. $52,500.
c. 543,500.
d. %$34,500.

Klugg, Inc. appropriately uses the installment-sales method of
accounting to recognize income in its financial statements. Some
pertinent data relating to this method of accounting include:

2004 2005
Installment sales $500, 000 5480, 000
Cost of installment sales 380,000 336,000
Gross profit $£120,000 $144,000
Rate of gross profit 24% 30%
Balance of deferred gross profit
at year end:
2004 $72,000 5 24,000
2005 132,000
Total 872,000 £156, 000

What amount ©f installment accounts receivable should be presented
in Klugg's December 31, 2005 balance sheet?

$480,000.

$540,000.

$520,000.

§877,777. (ﬁﬁ‘f’}ﬁfﬁﬂ,ﬁﬁ'ﬁﬁﬁ{/ﬁg
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22.

23,

Martin Co., organized on January 2, 2004, had pretax accounting
income of $550,000 and taxable income of $1,000,000 for the year
ended December 31, 2004. The only temporary difference is accrued
product warranty costs which are expected to be paid as foliows:

2005 $150,000
2006 75,000
2007 75,000
2008 150,000

The enacted income tax rates are 35% foxr 2004, 1p% for 2005 through
2007, and 25% for 2008. If Martin expects taxable income in future
years, the deferred tax asset in Martin's December 31, 2004 balance
sheet should be

a. $90,000C.

. 8105,000.

c. $127,500.

d. 8157,500.

Santo Corp., a company whose stock is publicly traded, provides a
noncontributory defined benefit pension plan for its employees. The
company's actuary has provided the following information for the
year ended December 31, 2004:

Projected benefit obligation $1,200,000
Accumulated benefit obligation 1,050,000
Fair value of plan assets 1,650,000
Service cost 480,000
Interest on projected benefit obligation 48,000
amortization of unrecognized prior service cost 120,000
Expected and actual return on plan assets 165,000

The market-related asset value equals the fair value of plan assets.
Prior contributions to the defined benefit pension plan equaled the
amount of net periodic pension cost accrued for the previous year
end. No contributions have been made for 2004 pension cost. Iin its
December 31, 2004 balance sheet, Santo should report an accrued
pension cost of

a. $813,000.

b. $648,000.

Cc. $483,000.

d. $435,000.

vance Co.'s prepaid insurance was $30,000 at Decemper 31, 2004 and
$15,000 at December 31, 2003. Insurance expense was £12,000 for 2004
and $9,000 for 2003. What amount of cash disbursements for insurance
would be reported in vance's 2004 net cash provided by operating
activities presented on a direct basis?

a. $33,000.
b. $27,000.
c. $18,000.
d. $12,000.
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24. Treasury stock should be reported as a(n)
current asset. '

investment.

other asset.

reduction of stockholders' equity.

o oo

25. Which of the following methods of determining annual bad debt
expense best achieves the matching concept?

Percentage of sales

Percentage of ending accounts receivable

Percentage of average accounts receivable

Direct write-off

o Uw

26. The cost of land does NOT include

costs of grading, f£illing, draining, and clearing.
costs of removing old buildings.

costs of improvements with limited lives.

special asgssessments.

Qoo

27. Stone, Inc. issued bonds with a maturity amount of $200,000 and a
maturity ten years from date of issue. 1If the bonds were issued at
a premium, this indicates that '
a. the effectuve yield or market rate of interest exceeded the

(stated) nominal rate.

b. the nominal rate of interest exceeded the market rate.
c. the market and nominal rates coincided.
d. no necessary relationship exists between the two rates.

28. The residual interest in a corporation belongs to the
management . ’

creditors.

common stockholders.

preferred stockholders.

L0 oo

29. Under the intrinsic value method, compensation expense resulting

from an incentive stock option is generally

a. not recognized because no excess of market price over the optiecn
price exists at the date cf grant.

b. recognized in the pericd of the grant.

c. allocated to the periods benefited by the employee's required
service. -~

d. recognized in the period of exercise.

30. An unrealized holding gain on a company's available-for-sale
securities should be reflected in the current financial statements

as

a. an extraordinary item shown as a direct increase to retained
earnings.

b. a current gain resulting from holding securities.

c. a note or parenthetical disclosure only.

d. other comprehensive income and included in the equity section of
the balance sheet.

(FEHAER L)
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—. .  Problem (12%)

(Goodwill, Impairment) On July 31, 2003, Postera Company paid $3,000,000 to aéquire all of the
common stock of Mendota Incorporated. which became a division of Postera. Mendota reported the fol-
towing balance sheet al the time of the acquisition.

Current assetls $ 800,000 Current liabifitres $ 600,000

Noncurrent assets _2.?00.000 Long-term liabifities 500,000

Total assets £3,500,000 Stockholders' equity 2,400,000
- } Total liabilities and

stockholders’ equity $3,500,000

It was determined at the dale of the purchase that the fair value of the identifiable net assets of Men-
dota was $2,650,000. Over the next 6 months of operations, the newly purchased division experienced
operating losses. In addition, it now appears that it will generate substantial losses for the foreseeable
future. At December 31, 2003, Mendota reports the following balance sheet information.

Current assels $ 450,000
Noncurrent assets (including googwill recognized in purchase} 2,400,000
Current jiabilities {(700,000)
Long-tarm fiabilities (500,000)

Net assets $1,650,000

It is determined that the fair value of the Mendota Division is 81,850,000 The recorded amount for
Mendota’s net assets (excluding goodwill) is the same as fair value, except for property, plant, and equip-
ment, which has a fair vatue $150,000 above the carrying value.

Instructions
{a) Compute the amount of goodwill recognized, if any, on July 31, 2003.
(b} Determine the impairment loss, if any, to be recorded on December 31, 2603.
{¢) Assume that fair value of the Mendota Division is §1,500.000 instead of $1,850,000. Determine the
impairment Joss, if any, lo be recorded on December 31, 2003.
(d) Prepare the journal entry to record the impairment loss, if any, and indicate where the loss would
be reported in the income statement.
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